foraferfiga forg spu & g 31w 2
[ oHEq

I %R
L. &9

In which order did the following come to
India ?
I Thomas Roe

Ii. Fa-hien

ITI.  Hiuen-Tsang

(A) LIL I (B) ILIIII

(C) ILIILIT (D) LI 1
TS -3g e Tl g 1 301 6 i
BT AT ?

(A) FFR (B) weATHl

(C) afvgam™ (D) & B TE

Siraj-ud-daula was defeated by British in
the battle of :

(A) Buxar (B) Plassey

(C) Wandiwash (D) None of these

TTH 9 S geU A 1 et THei o1 ?

(A) ATEdasiell  (B) TS Saers

(C) i i (D) e feem

Who among the following was the gréat

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Wellesley

(B) Lord Dalhousie

(C) Lord Minto

(D) Lord Hastings

A 3hie # ga=il & ¥ 2

(A) TFTw W % wferg mfa

(B) =g fesrmTiee shi | =l genfoa
A 9 V4G Tt

(C) &Y = AT & Uk fg TR

(D) &¥H H hIg el

In Indian History who was Dhanvantari ?

(A) A famous general of Chandragupta

Maurya

A noted physician who adomed the

court of Chandragupta Vikramaditya

A famous dramatist who lived

during the time of Harsha

None of these

(B)
©

(D)
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HifehTefM WA & oo areft “gfeshr &
TEH ¥ -

(A) WA (B) e

(C) (D) T & I T
“Indica” which is an account of Mauryan
India was authored by

(A) Megasthenes (B) Fa-hien

(C) Hiuen-Tsang (D) None of these
TSHA I Tohel T I H TGH S 7RI ?
The Simon Commission first visited
India in the year

(A) 1925 (B) 1926

(C) 1919 (D) 1928

T T HEE grT fohm arféeem o
tferfaes «guf TS (qU7 wEEEdn)

TS TR AT T3 2
(A)~ §F3 (B) ©mER
(C ST (D) TETH

In"which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)
resolution ?
(A) Bombay (B) Lahore
(C) Karachi (D) Lucknow
= &1 firem
a. SIST AYHA AT 1. AT eI
b. e Tl 2. QuTSE S
c. o 3. .3, gEE
d. &M & 4. TheE=
Match the following :
a. Indian 1. Lala Hardayal
National Army
b. Ghadar Party 2. Subhash
Chandra Bose
c. Mitra Mela 3. V.D. Savarkar
d. Home Rule 4. Annie Besant
League

a b c d
A 1 2 3 4
B) 2 | 3 4
< 3 4 1 2
(D) 4 2 1 3



10.

11.

12.

f= ° 9 forea wemem et % faemea
IEIeH 8 g 1 oy fopar 2
(A) M 3G THRR T

(B) ®IGA &h

(C) Trgmg 37att for=

(D) ST heAH S

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Khan Abdul Ghaffar Khan

(B) Fazlul Haque

(C) Mohammed Ali Jinnah

(D) Abul Kalam Azad

S8 | I AT IR TS HTehl TSI
&g | Iihet 41 2

(A) L urd

(B)  srefier afrfa

(C) e ara qu

(D) fergeam frafectsha wafiree

Which of the following revolutionasy
groups was involved in Kakeri
Conspiracy Case ?

(A) Ghadar Party

(B) Anushilan Samiti

(C) Abhinav Bharat Grotip

(D) Hindustan Republican Association

AT TR 979 fFa Tdt a8 7

(A) e (B) =M

(C) Tm (D) =l

The Nagarjunasagar Dam has been built
across the river

(A) Godavari (B) Krishna

(C) Ganga (D) Cauvery
T30 TE T YYH IR ISTE hy ¥ hi
T 7

The Mt. Everest was first scaled in the
year

(A) 1951 (B) 1953

(C) 1955 (D) 1958

13.

14.

15.

TaqR § feora uefl srvemes /g 3aH &
a2

(A) HERIETg SN

(B) X ATy

(C) hacTed g UL ITH

(D) ©TEHHT 31IRTT

The name of the bird sanctuary/national
park at Bharatpur is

(A) Bhensroadgarh Sanctuary

(B) Darrah Sanctuary

(C) Keoladeo Ghana National Parks
(D) Ghatprabha Sanctuary

TeTE SHTT T o g ITTh HIEid @
(A) Toell-USEU  (B) A

(C) 3uten (D) TSHIEE
The sourCe, of iron ore for Bhilai Steel
Plant is

(A) Dalli-Rajhara (B) Korba
(Cy»Umaria (D) Rajnandgaon

feu u ot 3 3 T w1 N @ e
TR E 7
L Sifrer stgiiia — g 3 e
2. ST AT @ AR N
faroeht o ST
3. g, fifg o
L
4. YA AR oM 1 — Fafewa
(A) 132 (B) 233
(C) 334 D) 1,233

Which of the following passes and
locations is/are wrongly matched ?

1. Zojila and — Jammu and
Burzil Kashmir
2. Baralapcha  — Uttar Pradesh

La and Shipki
La
3. Thaga La, Niti — Himachal

Pass and Lipu Pradesh
Lekh
4. NathuLaand - Sikkim
Jelep La
(A) land2 (B) 2and3
(C) 3and4 (D) 1,2and3
GAMMA21



16. ToREeh S o horea®y el fem | ghg

17.

18.

19.

h1 3fees wTeT Bl 2

(A) SR

(B) IRRI Y FiAd

(C) & Yot T g e

(D) =AfaTTd =T

Private investment will be most likely
to be increased as a result of a rise in
(A) The rate of interest

(B) The price of shares

(C) Expected yield on new capital
(D) Personal taxation

R s TE 3T ST AT B aTett
qET R

(A) SAt.3mE.

(B) ffa s

(©) o mame™

(D) e FifeTsh! TS

The agency estimating the National
Income of India is

(A) RBI

(B) NITI Aayog

(C) Ministry of Finance

(D) Central Statistical Organization

T &7 B g A T8 ?
(A) qdreh (B) wWiuiE=h
(©) fode (D) (Y

What is another namg for the Service
Sector ?

(A) Tertiary (B) Primary

(C) Secondary (D) Agriculture
YA § 3 Shifd o SIeh o &Y T HI
AT AR ?

(A) S HEal

(B) S =g HiwA

(C) TH.TH. T

(D) HHT Uge

Who is known as father of White
Revolution in India ?

(A) Balwant Rai Mehta

(B) Dr. Verghese Kurian

(C) M.S. Swaminathan

(D) Norman Edburg

GAMMA21

20.

21.

- 22,

IR 3 31T R 1991 o SR Tew
Y 7

A) W& T e

(B) 31ee forgrdt astorft

(C) . wHEA 7

(D) ST U %S el

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) P.V.Narsimha Rao

(B) Atal Bihari Vajpayee

(C) Dr. Manmohan Singh

(D) None of these

R o A9 ° 398 & 91 TsT g2
affea A4 8 ?

(40" Gior

(BY» g I =eeen

(€) 4

(D) <Ug UishaT Higar

Which one of the following is not
included in the state list in the
Constitution of India ?

(A) Police

(B) Law and Order

(C) Prison

(D) Criminal Procedure Code
Freferfaa & @ s wrer wfasm 6 g
fereryan =i 8 2

(A) 319w |

(B) Wfteg =maaat

(C) wrfeaa =1 ferawor

(D) forftaa wfqam s afdem S watd
Which one of the following is not a salient
feature of the Constitution of India ?
(A) Quasi federal structure

(B) Committed judiciary

(C) Distribution of powers

(D) Written Constitution

Supremacy of the Constitution
A

and



23.

24,

25.

= 4 9 = arRd™ TrTiER w1 s
T YEH BT 8 ?

(A) Tifets 3TfPR

(B) Hifeter shetexr

(©) T ifd = fcere frgra

(D) T U HE TR

What ensures economic justice to Indian
citizens ?

(A)
(B)
(©)
(D)

Fundamental Rights

Fundamental Duties

Directive Principles of State Policy
None of these

WRdlg W@ H RA W SEeRE T
TLHI 1 UTH Tl o AN & [T
et g ?

(A) 3TT®E38 (B) 3TI%8¢ 40
(C) 344 (D) 3ITITHC 46

Which Atticle of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 38
(C) Article 44

(B) Article 40
(D) (Article 46

Fr-wlm Tt U9 e #1 ER
ferem @ 2

(A) SoTad TF Hgdl Hudl

(B) 3T1Ish Tl i

(C) IS HHEIHE

(D) T § s e

Who had proposed the idea of three tier
Panchayati Raj System ?

(A)
B)
©
(D)

Balwant Rai Mehta Committee
Ashok Mehta Committee
Royal Commission

None of these

26.

27.

28,

AR

30.

fooreft T TR Ak G Ha BT B 2
(A) e =T EH W

(B) TR egER ™

(C) fEETeTA e ®

(D) 39Y I3 dledsl el gl

Current flows in a circuit when

(A) A switch is opened.

(B) A switch 1s closed.

(C) The switch is either opened or closed.
(D) There is no voltage.

gt st S.I. SRS T T ?

A) %ue (B) 3fEm

(C) dre (D) U
What is the S:1. Unit of resistance ?
(A) Faraday (B) Ohm

(@) WVolt (D) Ampere
=g 1 @I W 3 ¥ foheeh Iufefa
o ST BT & 2

(A) wEfis 3 (B) wHifewH I
(C) SATwufets 3A (D) WiTheh It
Sour taste of lemon is due to the
presence of which of the following ?

(A) Citricacid (B) Aceticacid
(C) Oxalicacid (D) Formic acid

Thehesieh THIEY H BIdT &
(A) &I (B) HYHE
(C) HE (D) AT (31Em)

Carcinogenic chemicals cause
(A) Heart diseases (B) Diabetes

(C) Cancer (D) Asthma
o St Sl TdE T HEeAT § 2
(A) 3ide=H (Terefia)

(B) sifererd (ufrefda)

(C) = (sfif)

(D) Tafsre = (wfser sfhifa)

Name the upper layer of the skin :

(A) Endodermis (B) Epidermis

(C) Dermis (D) Special Dermis
GAMMA21



31.

32.

33.

34.

?T&i (1+£)=(1+i),?ﬁx3ﬂrﬂ?%:
169 13
If (1 +£] = (1 +i) , then the value
169 13

of xis:
(A) 1 B) 3
© 5 D)y 7

37%1&@%%%?
(A) 300
(B) 400
(C) 500
(D) Trernfia 7€ # whd

How many é’s are there in 37% ?

(A) 300
(B) 400
(C) 500
(D) cannot be determined

’ 36.1 _9
102.4

29 19
A B) =
19 29
© % Y=
T FE h! IHEEAT H 4% 6! aiive 9fg

et 2 T TR F B Loy, e

2
T g2 i ST & | i =l § g 1 fowra
FITEAT 7
The population of a town increases 4%

annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 9.8 (B) 10
(C) 10.5 (D) 10.8

GAMMA21

3s.

36.

37,

38.

39.

40.

13 gfemmst =1 3ed 68 B | Tad @ B
3rEd 63 2 3 SRad w1 71 3f|d 70 3,
ql T T R § —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 47 (B) 65.5

(C) 735 (D) 94
frad @ e w1 foeim sse =R ?
(A) = (B) W

(C) (D) Ffvd
“TSded” R B

(A), T (B) HETG
(@), rmomfa (D) ey
“hidl W T g o1 & foru = few o
forepea § 3 T wieg 9

(A) eh

(B) ferhioi

(C) Feel

(D) HeHThHIT

Q8 %1 qY I I <1 TT1 HTAT HETo 1
FAIR :

(A) 9 3HUFRTEMA

(B) Tore-TeTet &

(C) vy R ST

(D) 3fua fefg e

I[g AT T T ST |
(A) FEHR
(B) fEsh
(C) dfgshr
(D) dE=hR



Directions : Read the passage carefully and
answer the corresponding questions : (41-43)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

41. The author sat peering into the darkness
because

(A) he had put out the light.

(B) he wished to see the window.

(C) the window had looked like a plate

(D) he was afraid.

42. The author jumped out of bed because
(A) he heard a faint sound.
(B) he saw someone coming towards

him.
(C) acold breeze blew pastyhis$ face.
(D)

he was pushed by,someone.
Which one of the following did the
author do first ?
(A) Closing the door.
(B) Climbing into bed.
(C) Rolling himself into blankets.
(D) None of these

43.

44. Give Synonym for the following word :
Pride
(A) Humour

(C) Dignity

(B) Hate
(D) Cowardice

45. Give Antonym for the following word :
Keen
(A) Dull (B) Alert
(C) Humble (D) Eager

46.

47.

48.

49.

feuw U fompedl § © Hafd 3ee w1 =94
Hifs -

W:W::W:?
(A) =T (B) I
(C) vt (D) &

Select the related word from the given
alternatives :

Dog : Rabbies : : Mosquito : ?

(A) Plague (B) Death

(C) Malaria (D) Stings

I 168 T = HITTC AT T o Tkl ITeal
| e A8 @ |

(A) T (vwgfer) (B) IR

(©) T (D) el

Choose the word which is least like the
othetr words in the group :

(A)»/Nun (B) Knight
(C) Monk (D) Priest
Tepeht fifeaa e w1 § COMPUTRONE

%! fef@t Sra1 8 PMOCTUENOR | 3
% 99T § ADVANTAGES &1 @11 for@t

ST ?

In a certain code language,
COMPUTRONE is  written  as
PMOCTUENOR. How is

ADVANTAGES written in that code ?
(A) SEGATNAVAD
(B) AVDATNSEGA
(C) AVDATASEGN
(D) NAVDASEGAT

T SATEH! = Teh Higal | e, “qreil 01 &
ufeq &t sz Bt §31 2 17 9% Aigem 3@

et @ forg yrr Hefa 2 7
(A) Eﬁﬁ (B) it
(C) = (D) =&

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Daughter (B) Grand daughter
(C) Mother (D) Sister

GAMMA21



50. @fc 18 wEdl, 2005 1 WHAR &, dl

51.

52.

53.

GAMMA21

18 B, 2007 i 14 &7 fe g 2
(A) TeEm (B) HWaR

(C) HIeEaR (D) T¥ER

If 18™ February, 2005 falls on Friday
then what will be the day on 18™
February, 2007 ?

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

T o 39 T U= bl 9 91 3 fe 3109
uft fenfir =5 wreg fim yeE TR g 2
(A) TeIUd (B) Qe

(C) TI=H (D) HARH
Name the state of India which became
the first state to provide health insurance
for all its residents.

(A) Gujarat (B) Telangana
(C) Rajasthan (D) Karnataka

SRR, 7 22 Jelrs, 2021 & form e
mﬁmmmmmwmm% ?
(A) TTERTHTE (B)

(C) =4 (D) sqﬁ%ﬁé?ﬁ

Which payment system has been barred

by RBI from issuing new cards ‘fsom

22 July, 2021 ?

(A) Mastercard (B) Visa

(C) Rupay (D) (Nong of these

INT & IR H AMEhdNSeH & 3T °
A H fohwreh g HieTgel T A I
& Tepell TR 2

(A) TR Td TRER ST FAre™
(B) T HATTH

(C) YT AT

(D) 7§ 1S TE

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) Ministry of Health and Family
Welfare

(B) Ministry of Home Affairs

(C) Ministry of Ayush

(D) None of these

54.

5s.

56.

57.

R dufafieE 2021 H fohesh! R
T o EIS—aTEeh b [o1C, AT fohdT 1T 2
(A) HERATHST (B) TRITH AT
(C) <Az gmEiEn (D) 3Iid fig
Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 2021?

(A) Kashish Lakra

(B) Mariyappan Thangavelu

(C) Devendra Jhajharia

(D) Ajeet Singh

2021-22 % gE FEIX (Jes-Toasr) +
ToTQ Fohrar T @ o1 ST TR 3 ?

What is the interest rate on Sukanya
Samriddhi®Accounts for second quarter
(July-Sept) of 2021-22 ?

(A), 7.6% (B) 6.6%

(C) 8.6% (D) 9.6%

TR T1 3 SR T 319 T BRI &
&1 dicfige TR EX AT
@z |

(A) Uwadt T g=H(B) et Suer
(C) =T UGl (D) ol STei

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress
(A) Aishwarya Rai Ba(,hchan
(B) Priyanka Chopra

(C) Deepika Padukone

(D) Vidya Balan

Ty 2021 o o7 TR <1 o1 UEUTE fored
T geY WeaTel qTEure i 2l U gey
SR ?

(A) & (B) 4.

(C) wrd (D) M

Which country’s passport has topped in
the most powertul passport in the world
for the year 2021 ?
(A) Russia

(C) India

(B) U.S.
(D) Japan



38.

59.

60.

61.

62.

AMeHTg fagM@ |91 2021 61 A TRy
Tt get = Sffar 2

(A) E.um.. (B) w3t

(C) TSI W%, (D) f.ud.s
Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) DMK (B) BIP
(C) AIADMK (D) PMK

Jfosek wnifad g 2021 § M &1 ¢
YRR ?

(A) SR (B) =sireivg

(C) 3msEeivs (D) YA

Global Peace Index 2021 topped by
which country ?

(A) Denmark (B) New Zealand
(C) Iceland (D) Portugal

HF W T WHR 9 gl gferd

TIRATHTIT ST T TAR] 62 3 2
(A) T (B) 3T e
(C) dffrerTg (D) feomm

Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Telangana
(C) Tamil Nadu (D) Bihar

= o o fopm qor o1 “ggug™ Hr gfa &
IH Y ST AT S ?

(A) S (B) ™

(C) _uTA (D) #fieieht

Which of the following countries is known
as the land of “Thunder Dragon™ ?

(A) Japan (B) Bhutan

(C) Nepal (D) Srilanka
fere form <o <t Ty 2 2

(A) WMER (B) R

(C) WSAIaE (D) THIABETE

Riyadh is the capital of which country ?
(A) Myanmar (B) Bangladesh
(C) Saudi Arabia (D) None of these

(B) Andhra Pradesh

—9_

63.

64.

65.

66.

67.

&A%e <l 3 & a1 e § & e
T ol BRI R 7

(A) fafeem (B) T3

(C) TEe™ (D) FSrH

Which of the following is the smallest
state (in Area) of India ?

(A) Sikkim (B) Goa

(C) Meghalaya (D) Mizoram
TS AT o I U HCH! 1 DI Thad
Y RIS ?

(A) 299 (B) 499

(C) 699 (D) 89

What is the tenure of the elected
members ofiRajya Sabha?

(A) 2Years (B) 4 Years

(Q) "~ 6Years (D) 8 Years

fora o TR T oo e T ST 2
(A) 20 HAFRCIL (B) 24 A&

(C) 27E (D) 30 &R
When i1s the United Nations Day

celebrated across the world ?
(A) October20 (B) October 24
(C) November 27 (D) November 30

AU =T el fRa B 9
(A) e (B) <7
(C) THEREH (D) o

The International Court of Justice is
located at

(A) Geneva (B) The Hague
(C) Amsterdam (D) Vienna

foee wftrg @R qdehamd @ d —
(A) ToUdH (B) HeA W H
(C) shfsmd (D) wewgH
The world famous ‘Khajuraho’ sculptures
are located in
(A) Gujarat
(B) Madhya Pradesh
(C) Odisha
(D) Maharashtra

GAMMA21



68. YHE TSR I8 S8 & forl U= &

g g ?
(A) A (B) fs&r
(C) TRYH (D) snfsem

The famous Nabakalebara festival
belongs to which of the following states?

(A) Kerala
(B) Bihar

(C) Rajasthan
(D) Odisha

69. T o & i U itae 19 T @ 2
(A) THem
(B) eI
(C) <hIeA STEINTFITSES
(D) FARFIHAHEA (CFC)
Which of the following is not a green
house gas ?
(A) Methane
(B) Nitrogen
(C) Carbon dioxide
(D) Chlorofluorocazben (CFC)

70. 3T T frafau e s § ¢
(A) STaTdeRTe fefa o fafse dear s fog
(B) g # e fer
(C) @l o & H Iehy JeeH = ferg
(D) Tafers wmrs qanst & foag
Arjuna Award is given for
(A) Exceptional service in emergency
(B) Bravery on battlefield

(C) Outstanding performance in sports

(D) Exceptional social services

GAMMA21

e« Fmafoarfta em <t ermgEes ufeu qen 3w
T ST T (71-75) o IT AT :

A GO 99§ 399 AR TR

| fersward Ser vt 2 3 W Taras g o
| SET STUATG TR © | WETeHT et 6 e H A8 I

o fopeft S99 @ G-wUe % @< T
o7 | ISt 3H TaTE HEd U | 30 NS I
e, anfifes stRem 9w = USSRl W
3T BT T o7 TSTaeT 3 e 3T SIEgR
W | 39 WA G I T W@H Hl T&A
SR Ig 7 Foh I8 SIaiten o1 37Uiq 39H <9
gL S oifa & @ witifoa o, =g 9 o fi €
7 T, AT A1 AR B A fahie gveri & |

o WY & AR aiRe 3w HhE

1 e TP STGeH o1 | W@AA 9Rd %
UIfEE % ®9 B 8H TS STkl 3 gr-
T 1 A9 33T TR & | 81 I T8 dohd Tk
FW oS < T 37U WTEH H 6 foIw g9 379
sifaffr & 97 a1 1 T BT T B
Tear ST a1 793Uk fog 3TETST T 397 Wehd
o 3T B 31U} T TAAATIEeh ST g i Tehd]
O

71, SR TR H WG TR’ weg i 3

3_
(A) UHHEIAE (B) THHIF
(C) THEAF (D) I h g8

72, IWE T H oG  &T €T § FqT 8

&

(A) STISICT H ShITarRTICAl shi forery yyfoepT
o |

(B) ITWE o TGN H HUhHI I
JTEH T |

(C) T[T o1 <h g1 Shafi off |

(D) HETCHT e & =qcd § T TG
ST |

—10- A



73. ST TS o G 1 IeTF AT AT 7
(A) @i FTEAST 3T TGN hl
EEEIRCI

(B) WRdT wadar dum 1 fagmar |
| o1 fera=m whtd gT 31eh 1@l o1 fredor foram 7 |

AMT |
(C) IUSH T o g fiFmT |
(D) SRt § BT ST |

74.  oEfUd § I R
(A) Tt et =T 3R
(B) o T g&qad 7 AT
(C) o <Y 3rasm
(D) Tersdt oft ad =51 7 AFT

75. S8 UET WU T BAW TW@d@ar @™

STt o 7

(A) Tg UERH e & T IR
T <1 Udlleh A1 |

(B) 5 femg afR waere wfitrfera g8l

(C) I8 SaAaT-ITE] sl Hiere 2 |

(D) sad gt srifeEt, s, e et 4
T foram o |

T FreferRaa s <k eNagae aieT a9 39
T SN I (76-80) o ST FHT -
faemar-tfaa @ gft & oo @ 73 |
I BRI 1 FAH T | 39 HEE B
SIEUE T Y T THH WRA SR 4 I
Tque aq srane’ i heda1 6 oft | 3D Ag e
AT ShedT T8 oft, Segd g o oft wrifer Aa -
T 1 S =R o &9 # 9fed g1 &, 361 B Hid
9 @ gfe ? | 99 o 51, Ta b1 IR ot
T 8 | < | 398 IS, TRy Ud Aavaqy
9GP § 37 el ¢ 7 38d W@ AT 7
AHE-Tid | HifgshRl 4 36 FI-Hied &

A -11-

i o ToTT fopar &1 SToreetl =61 ferer fopan & 31
39 g -fsr @ aft 1 el s % o
3 e gfseai = Sl § |

TTfgerentaal 5 i $6 7a 1 wrEAT

] ST g8 o= foher ST @t ATE-3RR
=1 Teh Sfeet =1 T 39T fopa S wemar & | o
YR IA & Th ot § g 3T I W 1 IA
TEdSl JTdl 2, Sl 81 Al & 35! TR gHa-
R % fafie sreeat § @ afe 1 v 3=
TorTe STTaT 2 A SHeT wuTe FR I 9 agd § |
ST &l e, T[S S8 hIHe TH A e o T

B M A ¥E afeelie 9qEe whiue seeg 8
| TRaT B, SftE < Oy B ekl § | Th I &

ferehd 2 W S0 IR SfUed 71, 98 shrashdiad
B, = 7% femmefia R |

Ife fordll I=1 & o1 I TeeAHL IHeh TIH
T T YTl TRt A ol Jeiad HaTe Ud S feerd
&9 ¥ Toramsfiet saman 5 |endt & a1 IR < foeka
3 o WM W 7 R 31 et IR i
LY U AT 1 & ST ST Hehall ? e -

 Tafencashi = 39 rfreaqul A ohl Tehr fera

YT FR-R STEE™ OISl W 3R 3-

| ST < & H Hherd] YTH 1 | S-S

%1 327 & T ags7 Sty e o we | T8 a7
eTaed g foh AE-30R & fopet < 37 Bl 3
TR TehR T LT, Tore TR &t fohet o1 T
38 T 72 gt | Urht =Bl T 3 & g wh-at
T U0 SIS g, Al S-TARTT & [
Sk -qierr AfaTd ] | 31T W1 e - fafereass

THAATYEh L @ & | greH-avra faferara
T nfeass & Afas TR & I=: aeft 3 &
TR0 G¥99 B TR 8 |

GAMMA21



76. TS I YY1 &7 &9 TH 71 8 FiTh
(A) wHE-T4 # S Efed gt B, 98 gy
HafaEme |
(B) uHa gy o fomii ? |
(C) HA ! Itk WA R |
(D) @Y AFE @ fag@H o= gz |

77. AT I 1 STIEATH AT BT &
(A) WTfeTHR ™
(B) Hfecaeredt &
(C) vreg-Tufercass o
(D) ST |

78. M I I A=A el T § Fih

(A) WHE YR 3¢ Hiqule 3R sEwar
o faffa 2 |

(B) WY YRR I h! WiTd SATE0m gl
21

(C) 3T & qSA1 o forshd 2 HRRR
Faq FAfsra g man 8 |

(D) wHE SRR o sl Gt g
Faz |

79. Ya-Tafhemsl g1 wWeR H T
STRrearqut AT oft
(A) il IR o T W e IR A
(B) WHI-IR &I Jcg | F=HT
(C) STT-YIRII gRI SR 6 HH=T
EEIEI)
(D) Ied-TafehcH o1 Hgw LA T

80. 3T =wc 8 W e wsg 1 wlg B

(A) g (B) =™
(C) AT (D) A
GAMMA21

féwr (81-85) : TAifoha Tatem 1 Hiwie = fafira
T o ENH 3cdreT (fuform ea #) et M 2
THeRT 3T o AR [ TRad T3 & ST & :

¢ Directions (81-85) : The following graph
' shows the production of cement m Million

Tonnes during the various years. Study the same
and answer the following questions correctly :

Tz 1 Ieare
(faferem = )
Production of Cement
(In Million tonnes)
100

98

40

11-12

2009-10
2010-11
2012-13
2013-14
2014-15
2015-16
2016-17
2017-18
2018-19
2019-20

20

81. 3IcUTeH HAfUrehdy T deh 39 9 HLJ

The production fell down to the
maximum extent in the year :

(A) 2012-13 (B) 2015-16

(C) 2016-17 (D) 2019-20

- 82, 3cdreA H fuset o Shi g A 9

% G SrfereRad Ifg 58 |

The increase in production was
maximum during the year over
its previous year.
(A) 2013-14
(C) 2014-15

(B) 2017-18
(D) 2018-19

83, TYH T 99 U 3TEd 3cTeT o1

The average production during the first
three years was :

(A) 44 MT
(C) 48 MT

(B) 46 MT
(D) 50 MT



84.

8s.

Hitie w1 Trhay IedTe gl §371 36 oW
The maximum production of cement was
noted in the year :
(A) 2013-14
(C) 2018-19

(B) 2014-15
(D) 2017-18

¥ 2011-12 % GRF Icd1eA gfg vl
et ad &1 qer § o

The percentage increase in production
during 2011-12 over its previous year was :
(A) 31.8%

(B) 36%

(C) 37.5%

(D) 3TH H RIS 81 / None of these

AT (86-90) : fe=m T T U TR X W AT
1 2013 B 2019 % H&7 HUS o9 H AT 2 |
e U form v ST g9l o I |

Directions (86-90) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figuires
Answer these questions.

86.

A X &I 3=

2000

Import of X g
1300

S 1200 12009 —

= BEB

& 900

D 700

%
= ST = x 2 g
) <+ P b = 0
> S S > S ER=
(o] o o (o] (@] (o]

I 2014-15 ¥ 2015-16 3 GH X
1T | gig wiaea g —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 43.0% (B) 33.3%

(C) 288% (D) 25.0%

87.

88.

89.

90.

13-

) a9 & f70 99 e 99 X & A™E 6l
gig 1 3Hd (I BS H) 7
Average of the increase in import of

X year by year for all the years is
(in ¥ crore)

(A) 260
(B) 280
©) 325
(D) 3T5 T IS T8l / None of these

Terma fepa= ot @eh X o1 3ATTE, X & 3114
TG & AT o7 7
For howsmany years, there was more

importof X, than the average import of
X2

(A) 4 By 3
@) 2 (D) |

X o Sfd 31T & 3710 3T 3 X %
3NGd AT § HH TR o I8 ol 37T

g—

The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is

(A) 3 (B) 2
© 1 D) 0

¥ 2018-19 < GRH X % 37T | fewra
gfg avft s o X % AT % 39 iEd
| fopai g ?

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 50.9% (B) 63.5%
(C) 70.6% (D) 64.38%
GAMMA21



Trew (91-95) : € 12 arfereRT/ameft @b eagES
ST L a7 = T ST o I G -
Directions (91-95) : Study the table and

answer the given questions.
o= aferent ® IR =@ A, B, C 991 D 918 %
fafir feff magai A s R 2
In the following table four persons A, B, C and

D are selling items on different days of the
week.

A B C D

@9/ Monday | 40 | 45 | 25 | 20

TR/ Tuesday | 35 | 50 | 48 | 26

sha/ Friday 25 | 28 15 | 41

SHER/ Saturday | 30 | 40 | 45 | 40

91, TTGER &l A R s 718 og 7T FHaR
I C G o=t T8 T T ST T o7 7

What was the ratio of atemysold by A on
Tuesday & items sold by C on Saturday ?

(A) 9:7 B) 7:9
C) 6:5 (D) 8:7

92. THER I D g s 78 %], TR %l C
RISt 718 g BT TekeT wierera off 7
Items sold by D on Monday is what
percent of item sold by C on Saturday ?
(A) 42.60% (B) 49.55%

(C) 44.44% (D) 32.70%

GAMMA21

93.

9.

| 95,

— 14—

B, C 9T D gRI FAST: HHaR, GIAaR 9T
@R T o=t T8 SR 3T =T 3T T ] 7
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 4433
(B) 42.50
(C) 46.66
(D) 45.90

Twtg o woft = et § D awg 6 fasht
qorT | By aeg =i Toshi o fera s <At
gfig oS ?

Rercent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 29.1%
(B) 19.5%
(C) 183%
(D) 28.3%

Hmar F1 A 7 Fege 1 sfea o
IR 1 ST TS SRRl Sl 3T % el
fopaem st & 7

What is the difference between the

average of items selling on Monday to
average items selling on Friday ?

(A) 105
(B) 7.40
(C) 525
(D) 6.45



e (96-100) : 778 TfereRT /Aol T FgES | 98, 2010-11 § 2016-17 Y 7T & HET 37T
e L qen = fa st % I e 1 37 3eaTed fpaT 2 7
Directions (96-100) : Study the table and
) . (A) 300.00eT (B) 293.86CT
answer the given questions.
WA & 2010-2017 3 W BEAT BT TG (C) 3539637 (D) 253.862
Production of Crops in India during What is the average yield of potatoes
2010-2017 during the period 2010-11 to 201617 ?
(< ﬁ) / (In tonnes)
R . (A) 300.00 tonnes (B) 293.86 tonnes
i/ | W/ e o e /| St/ | e /| s/
Year |Wheat| / / | Maize| Barley | Pulses| Potatoes (C) 353.96 tonnes (D) 253.86 tonnes
Rice | Bajra
2010-11| 6121 | 874| 565 | 80 | 300 | 415| 210 ]
2011-12| 7010] 964] 655 | 60| 312 | 47| 220 || 99. 2016-17 HHE 5 & ohE wH o IemeA
2012-13| 7112| 960 780 | 55 | 210 | 680 | 222 || ﬁﬁ@ﬁaﬁﬁwﬁﬁr{ma@fﬁﬁ 2
2013-14| 7056 | 985| 1110 40 | 200 | 310 | 245 '
2014-15| 6896 | 716| 1160 90 | 216 | 370 | 315 (APt (B) TSI
2015-16| 6912 | 826| 1450 110 | 160 | 300 | 400 '
2016-17| 7617 | 812| 1460 75 | 216 | 260 | 445 (C) =mEad (D) 3L
“ e - cx A . During 2016-17, which of the followin
96. TF Scareq U foRw o o g fiRee fa@Tg © . e
crops showed decrease in production in
e comparison to the previous year ?
Wheat prloductlon started, showing a (A) Barley (B) Bajra
slump during :
(A) 2013-14 @) 2015-16 (€) Rice (D)  Potatoes
(C) 2014-15 (D) 2016-17 .
| 100. 3T T IAATET 2015-16 F 2010-11
97. 3TH § T8 ®HA H 2013-2017 % ALY o
sqﬁ ~ c Iy EU]T% !
IEATE H AR g G b1 TS 7
N The production of potatoes in 2015-16 is
(A) Ul (B) it : . .
- approximately how many times that in
(C) <« (D) R 2010-11?
Which of the following crops showed the (A) 1.82
continuous increase in production during
2013-2017 2 (B) 2.00
(A) Maize (B) Barley (©) 2.10
(C) Pulses (D) Bajra (D) 1.90
A -15- GAMMA21



